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About this Resource

different ways.

This resource includes 24 fask cards to reinforce the breaking up the second number strategy for

addition. Students will use these task cards to practice these facts (up to 1000) in a variety of
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ddition strategies and fac

Are you looking for even more support with teaching addition stratfegies in
your classroom? The Addition Station will transform your teaching, allowing
your students fo master addition facts and strategies at their own pace. Find
the Addition Station here:

https://www.teacherspayteachers.com/Product/ The-Addition-Station-First-
Grade-1/81284

I'd love fo help you get redlly strategic with your math instruction this year!
Join me over on my website, ShelleyGray Teaching.com for ideas, tips, and

resources!

http://shelleyarayteaching.com/
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Answer keys to make self-checking a breezel
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